& A4 tehfw?

@ 0.06 ® 0.06

@ 0.60

® 0.606



2 JEhy W, 0.72222- -

o uf, A% x 2] 7

@ 11 @ 13 G 17



A 1
R4S 2fhas Uehe o 8niti o] Sato] 7

W =

i rlr boeok



Bl

@D 2.803

2~
T

17
6

& 248 trehiw?

@ 2.803 ® 2.803

@ 2.83

® 2.83



& <8425 E e 0.2758 olth a 9] 27

@® 4991 @ 4992 ® 4993 @ 4994

® 4995



; dof, x+y+z 9



D 0.83 @ 0.83 3 0.83 @ 0.88 ® 0.88



@v.,©,0
®©,,0

© 0.0,
® ©.0

® 9,0,.0



=vy0]H 1 .
9. xxy=2!{" el OlT, a =03 b=03 c=0 4=
x#yolH -1 33

020, ¢ = % o ), t}-go] Zhe aolal.

(bxc)*(axd)*(bxe)







11.

T x yoll st x«y &

x=yolH 1, x#yo|H -1

%,c=0.i,d= L= 0.00 of isted

st 2= -
gt Yl a=0.1,0 =5

(axe)x (bec)x(axd) o L Fatoiet,

5 L
3%



